BK S:t Erik

Nyarssilver 2009-01-01

Partavling, 29 bord, 58 par.

Antal brickor: 42. Medel: 1176.0.

Plac Par Poang % Namn MID Klubb
1 22 1564 66.50 Lennart Weiler - Rolf Lindestal 8640 1978 BK S:t Erik - Malungs BK
2 4 1402 59.61 Mikael Lindblom - Mart Altmée 5094 5914 BK S:t Erik
3 3 1389 59.06 Bjorn Wenneberg - Olle Wademark 1912 14800 ABB BK - BK S:t Erik
3 31 1389 59.06  Kiristin Nedlich - Bengt Pettersson 85109 14219 BK Herkules - BK S:t Erik
5 52 1376 58.50 PG Eliasson - Staffan Schmidt 2827 2052  Nasby BS - BK S:t Erik
6 8 1374 58.42  Eric Arvidsson - Kerstin Strandberg 16417 9216 BK S:tErik
7 1 1355 57.61 Leif Eriksson - Pontus Silow 8610 87294 BK S:tErik
8 43 1347 57.27 Bengt-Erik Efraimsson - Carl Ragnarsson 127 2498 BK S:t Erik - Filbyter Bridge
9 7 1343 57.10 Johnny Ostberg - Mats Axdorph 2051 2053 BK S:t Erik
10 10 1339 56.93 Peter Flodgvist - Thomas Magnusson 14778 3693 BK S:t Erik - Nasby BS
11 26 1329 56.51  Bjorn Borin - Jan Lagerman 2343 7856  BK S:t Erik - Nasby BS
12 21 1326 56.38 Jenny Rudenstal - Jessica Larsson 15767 17400 BK S:tErik
13 57 1319 56.08  Simon Bech - Fredrik Alfredsson 87173 83200 BK S:t Erik - BK Herkules
14 50 1316 55.95 Claes Melin - Frederic Wrang 9105 8652 BK S:tErik
15 14 1307 55.57 Peter Swensson - Mattias Lindgren 15345 87458 BK Svanslos
16 5 1296 55.10 Mattias Weiler - Mari Lindblom 11482 996 BK S:t Erik
17 38 1276 54.25 Per Wingborg - Tore Stormo 13451 78250 Arla BK
18 32 1271 54.04  Johan Karlsson - Jonas Hagg 81517 27584 BK S:t Erik
19 30 1269 53.95 Peter Térnblom - Thomas Wrang 2265 91015 Malungs BK - BK S:t Erik
20 42 1247 53.02 Emma Sj6berg - Erik Fryklund 80922 80722 Filbyter Bridge
21 17 1244 52.89 Lars-Erik Rudstrom - Kjell-O Persson 10725 10169 BK S:t Erik - Lidingd BK
22 58 1242 52.81 Henning Deichmann - Marina Rapp 1939 998 BK Tva Ess
23 12 1239 52.68 Hilding Rune - Mona Asplund 8743 11435 BK Tva Ess - Lidingd BK
24 48 1237  52.59  UIf Nehlin - Britta Nehlin 2000 9157 SEB Bridge - BK S:t Erik
25 40 1231 52.34  Birgitta Ternblad - Jakob Sondén 1981 93481 BK S:tErk
26 37 1226 52.13 Ylva Strandberg - Gudrun Strandberg 9217 4143  ArlaBK
27 41 1217 51.74  Kjell Pettersson - Karen Gott 1454 6831 BK S:tErik
28 27 1194  50.77 Lars Andersson - Ulf Lundgren 13156 12024 BK S:t Erik - Tyresd BK
29 15 1182 50.26  Elena Strdom - Christina Blomberg 8220 1933 BK S:t Erik
30 11 1165 49.53 Henning Tingvall - Conny Lévgren 10744 24860 BK S:tErik
31 18 1157 49.19 Sven-Owe Andersson - Harry Nisell 8954 50711 BKS:tErik
32 29 1156 49.15 Ann-Sofie Axelsson - Nilla Sundberg 1818 8520  Skovde BA - Arla BK
33 34 1146  48.72  Ann-Britt Carlén - Eva Wiklander 88227 17165 BK S:tErik
34 49 1140 48.47  Bengt Nilsson - Lars-Gunnar Bystrom 18043 6923 ABB BK
35 16 1128 47.96 Jan-Olof Hegethorn - Catarina Widgren 12033 8693 BK S:tErik
36 35 1127 47.92  Micke Almgren - Denny Abrahamsson 11390 23656 Arla BK
37 28 1119 47.58  Erik Wall - Elisabeth Forsell 17069 16291 Arla BK
38 23 1113 47.32  Gunnar Lindell - Kenneth Gollne 16249 8730 Katrineholms BA - BK S:t Erik
39 47 1111 47.24  Ann-Christine Brask - Josef Jawitz 82567 80046 BK S:t Erik - IK MAKKABI
40 39 1099 46.73  Stefan Josefsson - Leif Axelsson 2033 1706  Arla BK - Skdvde BA
41 51 1095 46.56 Hans Thormar - Bengt Berg 9231 6370 BK S:t Erik
42 9 1094 46.51 Carmen Tuason - Lars Manneteg 89810 2944 BK S:t Erik - Upsala BS
43 6 1087 46.22 Kerstin Hastad - Stella Hathorn 11222 9063 Danderyds BS - BK S:t Erik
44 36 1075 45.71  Erland Sommarskog - Roger Eriksson 1921 9021 BK S:t Erik - Gnesta BK
45 54 1074 45.66  Per Clarin - Torbjorn Gustavsson 10538 1255 BK S:tErik
46 46 1072 45.58 Hans Danielsson - Kjell Bohmgren 8999 8983 BK S:tErik
47 20 1069 45.45  Per Grivenfeldt - Tommy Storm 89392 14393 BK S:t Erik - Norrtélje BS
48 56 1047 44.52  Goran Lind - Ake Hammarsten 14248 83590 BK S:t Erik - Alvik BC
49 44 1046 44.47  Kerstin Helleberg - Barbro Westman 10190 13835 BK S:tErik
50 53 1042 44.30 Gunnar Andersson - Rob Walker 18507 51041 ABB BK - Storsjobygdens BK
51 25 1036 44.05 Yvonne Flodgvist - Christina Torsslow 14805 18545 BK S:tErik
52 24 996 42.35 Anders Johansson - Ann-Margret Johansson 10188 13810 BK S:tErik
53 33 991 42.13  Anders Agner - Carl Agner 20328 30172 BK S:tErik
54 55 907 38.56 Goran Svensson - Gerd Svensson 24180 24181 BK S:t Erik
55 13 891 37.88 Inga Wasteby - Lennart Wiklander 10912 17072 BK S:tErik - BK Tva Ess
56 2 876 37.24  Per Soderberg - Iris Forster 18380 32059 Alvik BC
57 19 850 36.14  Jan Christiernin - Folke Ljungstrom 50692 9128 BK S:tErik
58 45 653 27.76  Ann Lofberg - Agneta Mikaelsson 31651 22597 BK S:t Erik
1 4 Kn84 2 4653 3 4104
Nord vED Ost vD1096 Syd v DKn1032
Ingen ¢ K10872 NS ¢+ E9 ov 4872
*K84 #K1086 #D102
4 EKD105 473 497 & DKn1042 49653 4 EKDKn7
vK5432  v87 v 82 vE75 vK76 vE4
+5 ¢+ ED943 ¢ KKn7543 ¢ D102 ¢ DKn10 ¢ 965
*ED #Kn762 #D53 %94 #Kn87 #K94
4962 4« EK8 482
v Kn1096 v KKn43 v 985
¢ Kn6 + 86 ¢ EK43
#10953 #EKNn72 #E653
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
3 56 44 V-2 *7 100 56.0 0.0[33 26 3NS+ 49 630 56.0 0.0| 8 51 44 O-1 ¢ A 100 51.0 5.0
4 55 44 V-1 a4 50 51.0 5.0| 3 56 4v S= 43 620 46.0 10.0|27 32 44 V-1 vQ 100 51.0 5.0
30 29 4v V-1 *J 50 51.0 5.0|18 41 4v S= v3 620 46.0 10.0|44 15 44 O-1 ¢ A 100 51.0 5.0
35 24 44 V-1 a4 50 51.0 5.0|21 38 4v S= +5 620 46.0 10.0 |45 14 44 O-1 ¢ A 100 51.0 5.0
43 16 3NV-1 a4 50 51.0 5.0({23 36 4v N= L) 620 46.0 10.0|46 13 44 O-1 ¢ A 100 51.0 5.0
6 53 3v V= a4 -140 40.0 16.0|28 31 4v S= v2 620 46.0 10.0|58 1 44 0-1 +K 100 51.0 5.0
11 48 24 V +1 43 -140 40.0 16.0|30 29 4v S= 49 620 46.0 10.0| 4 55 24 O= ¢ A -110 44.0 12.0
17 42 24 O+1 a4 -140 40.0 16.0|37 22 4v S= ¢7 620 46.0 10.0| 7 52 INO+1 ¢ A -120 38.0 18.0
25 34 3v V= 2 -140 40.0 16.0|49 10 4v S= v8 620 46.0 10.0|12 47 INO+1 +3 -120 38.0 18.0
46 13 24 V +1 +8 -140 40.0 16.0|57 2 4y N= L) 620 46.0 10.0|20 39 INO+1 v9 -120 38.0 18.0
50 9 24 V+1 a4 -140 40.0 16.0|27 32 3v S+1 49 170 36.0 20.0|25 34 INO+1 +3 -120 38.0 18.0
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54 5 24 V+1 a4 -140 40.0 16.0|20 39 3v S= 49 140 34.0 22.0|35 24 INO+1 ¢ A -120 38.0 18.0
33 26 24 V+2 vA -170 310 25.0| 7 52 3¢DO-1 #8 100 32.0 24.0| 3 56 34 V= vQ -140 18.0 38.0
58 1 3v V+1l *7 -170 310 25.0| 4 55 INS= +3 90 30.0 26.0| 6 53 34 O= ¢ A -140 18.0 38.0
8 51 3NO= vJ] -400 240 32.0| 8 51 4v S-1 49 -100 17.0 39.0|11 48 24 O+1 v8 -140 18.0 38.0
12 47 3NO= +J -400 24.0 32.0|12 47 44 N-1 +5 -100 17.0 39.0|17 42 24 O +1 + K -140 18.0 38.0
18 41 3NO= vJ] -400 24.0 32.0|17 42 4v N-1 4Q -100 17.0 39.0|19 40 34 O= ¢ A -140 18.0 38.0
21 38 3NO= vJ] -400 24.0 32.0|19 40 3NS-1 *4 -100 17.0 39.0|21 38 24 O+1 ¢ A -140 18.0 38.0
57 2 3NO= v] -400 24.0 32.0|25 34 4v S-1 49 -100 17.0 39.0|23 36 34 O= ¢ A -140 18.0 38.0
20 39 4v V= *9 -420 140 42.0|35 24 4v N-1 +9 -100 17.0 39.0|28 31 34 O= ¢ A -140 18.0 38.0
27 32 4e V= 43 -420 14.0 42.0|43 16 3NS-1 +5 -100 17.0 39.0|30 29 24 O+1 a2 -140 18.0 38.0
37 22 4v O = +J -420 14.0 42.0|44 15 4v S-1 49 -100 17.0 39.0|33 26 34 O= ¢+ K -140 18.0 38.0
44 15 4v O = +J -420 14.0 42.0|45 14 4v S-1 v8 -100 17.0 39.0|37 22 34 O= ¢ A -140 18.0 38.0
45 14 44 O = +6 -420 14.0 42.0|46 13 4v S-1 49 -100 17.0 39.0|43 16 34 V= vQ -140 18.0 38.0
7 52 3NO+1 a4 -430 8.0 48054 5 4vS-1 49 -100 17.0 39.0|49 10 24 V+1 vQ -140 18.0 38.0
19 40 1¢DN-3 &7 -500 50 51.0(58 1 4vS-1 49 -100 17.0 39.0|54 5 24 O+1 ¢A -140 18.0 38.0
49 10 1¢DN-3 8 -500 5.0 51.0| 6 53 3NS-2 *4 -200 20 54057 2 24 O+1 ¢ A -140 18.0 38.0
23 36 INDN-4 ¢4 -800 1.0 55.0|11 48 3NS-2 +5 -200 2.0 54.0(18 41 5v N-3 4 A -150 1.0 55.0
28 31 2¢DN-4 &7 -800 1.0 55.0|/50 9 3NN-2 2 -200 20 540(50 9 INO+2 ¢A -150 1.0 55.0
4 107 5 +E 6 « Kn97
Vast v D8732 Nord v EK1054 Ost v 1076
Alla ¢ D95 NS ¢ EKn10653 ov ¢ Kn1075
#Kn62 &9 &ED2
«D8 & K5432 4 Kn87 4D964 4863 &K42
v1054 v K96 vD83 v Kn97 v 8432 vKKn
¢ EK63 1082 + K8 +9 + D86 ¢K43
#K1054 #D3 #KD543 &Kn8762 #854 #KKnl1076
« EKn96 4 K10532 « ED105
v EKn v 62 v ED95
¢ Kn74 ¢+ D742 ¢ E92
*E987 #E10 #93
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
12 49 INO-3 v3 300 530 3.0|58 2 7#4DV-8 &A 2000 56.0 0.0| 4 57 2¢DO-5 +2 1400 540 2.0
21 40 24 O-3 *4 300 530 30| 1 3 6¢ N+1 &7 1390 39.0 17.0| 8 53 2¢DV-5 v6 1400 540 2.0
22 39 INO-3 v2 300 530 3.0| 4 57 6¢ N+1 &2 1390 39.0 17.0|126 35 2vDV-5 ¢J 1400 540 2.0
58 2 24 0-3 ¢7 300 530 3.0| 556 6¢ N+1 &2 1390 39.0 17.0| 7 54 2¢DO-4 +Q 1100 50.0 6.0
7 54 24 O-2 *2 200 440 12.0| 8 53 6¢ N+1 v7 1390 39.0 17.0|18 43 24D O-3 #3 800 48.0 8.0
8 53 24 O-2 vA 200 440 12.0(12 49 64 N+1 &8 1390 39.0 17.0|38 23 24D O-2 ©vA 500 46.0 10.0
18 43 1INV -2 v2 200 44.0 12.0(18 43 64 N+1 &3 1390 39.0 17.0] 9 52 3NN+3 &T 490 440 12.0
29 32 24 V-2 v2 200 440 12.0|21 40 6¢ N+1 ¢+9 1390 39.0 17.0|47 14 3NN +2 a2 460 42.0 14.0
50 11 INV-2 v2 200 440 12.0(22 39 64 N+1 6 1390 39.0 17.0121 40 3NN+1 &T 430 39.0 17.0
556 2v S= ¢ A 110 38.0 18.0|26 35 64 N+1 &2 1390 39.0 17.0122 39 3NN+1 &T 430 39.0 17.0
1 3 INV-1 v2 100 30.0 26.0|28 33 6¢ S+1 &K 1390 39.0 17.0|34 27 4v S= +6 420 36.0 20.0
4 57 la V-1 v2 100 30.0 26.0|34 27 6¢ N+1 &2 1390 39.0 17.0|36 25 3NN= *6 400 33.0 23.0
9 52 INV-1 v2 100 30.0 26.0|36 25 6¢ N+1 9 1390 39.0 17.0|50 11 3NN= a2 400 33.0 23.0
13 48 24 O-1 vA 100 30.0 26.0|38 23 6¢ S+1 K 1390 39.0 17.0|129 32 INO-3 oT 300 30.0 26.0
19 42 INV-1 v2 100 30.0 26.0|44 17 6¢ N+1 &2 1390 39.0 17.0|120 41 INO-2 &9 200 28.0 28.0
34 27 INV-1 aT 100 30.0 26.0|46 15 6¢ N+1 &2 1390 39.0 17.0] 1 3 INN+3 &T 180 23.0 33.0
51 10 INV-1 v3 100 30.0 26.0|51 10 6¢ N+1 &2 1390 39.0 17.0|28 33 INN+3 LN 180 23.0 33.0
24 37 INS= *6 90 210 350| 9 52 6¢ N= &2 1370 19.0 37.0|31 30 2NN +2 a4 180 23.0 33.0
47 14 INS= &5 90 21.0 35.0|19 42 6¢ N= &2 1370 19.0 37.0(58 2 2NN +2 &T 180 23.0 33.0
28 33 INV= v3 -90 14.0 42.0|31 30 6¢ N= 8 1370 19.0 37.0| 5 56 2¢ N+4 &T 170 18.0 38.0
31 30 INV= v3 -90 14.0 42.0|50 11 6¢ N= &2 1370 19.0 37.0|12 49 1¢ N+4 vK 150 14.0 42.0
45 16 INV= v2 90 14.0 42.0(20 41 3NS+2 *9 660 13.0 43.0(13 48 2NN +1 &J 150 14.0 42.0
46 15 INV= v2 -90 14.0 42.0(24 37 3NS+2 »2 660 13.0 43.0(19 42 2NS+1 v3 150 14.0 42.0
55 6 INV= v3 90 14.0 42.0(13 48 5¢ N+2 »2 640 7.0 49.0 (44 17 2v S+1 &4 140 10.0 46.0
20 41 2NS-1 +Q -100 8.0 48.0(29 32 5¢ N+2 *9 640 7.0 49.0|24 37 2¢ N+2 &T 130 7.0 49.0
26 35 24 O= SA -110 6.0 50.0 |47 14 5¢ N+2 »2 640 7.0 49.0 |46 15 2¢ N+2 a2 130 7.0 49.0
36 25 INV+1 v3 -120 2.0 54055 6 5¢ N+2 »2 640 7.0 49.0|55 6 INN+1 *6 120 4.0 520
38 23 INV+1 v2 -120 2.0 540 7 54 3NS+1 v3 630 2.0 54051 10 2¢ N= +3 90 2.0 54.0
44 17 INV +1 v7 -120 2.0 54.0(45 16 5¢ N+1 46 620 0.0 56.0(45 16 14 0O= ¢ A -70 0.0 56.0
7 « E84 8 476 9 « KD632
Syd v93 Vast v DKn764 Nord v5
Alla + D964 Ingen ¢ DKn4 ov + 1064
#K853 #975 #EDG3
4 K973 & DKn2 4 K852 1094 4 Knl10985 474
v EDKn8 vE10952 ¢3 v 10 v EDKn9843
¢+ KKn872 ¢ 105 ¢E 4653 + ED832 +9
#1096 #EKN72 #1086 #EKD432 #KKn #852
#1065 « EDKn3 +E
v 1076542 vK8 v K762
¢E3 + K109872 ¢ KKn75
D4 &Kn #10974
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
19 44 3NO-2 v6 200 55,0 1.0|39 24 3vV-4 +Q 200 56.0 0.0|22 41 2NDV-4 v2 1100 56.0 0.0
29 34 44 O-2 ¢ A 200 55.0 1.0|19 44 2¢ S+1 vA 110 520 4.0|21 42 3NDS= vT 550 540 2.0
35 28 2NO-1 a5 100 50.0 6.0|51 12 3¢ S= *2 110 520 4.0| 8 55 3vyDO-2 4A 500 510 5.0
39 24 3NO-1 *0Q 100 50.0 6.0|52 11 2¢ S+1 vA 110 520 4.0|30 33 3vDO-2 aA 500 510 5.0
48 15 3NO-1 v7 100 50.0 6.0|29 34 2¢ S= vA 90 48.0 8.0(19 44 4v O-3 4 A 300 47.0 9.0
47 16 24V = v9 -90 46.0 10.0(22 41 34 S-1 »6 -50 43.0 13.0(48 15 3NV-3 »2 300 47.0 9.0
9 54 INV+3 +6 -180 44.0 12.0|35 28 3¢ S-1 &T 50 43.0 130 5 1 3vDO-1 4A 200 42.0 14.0
52 11 1v S-2 49 -200 42.0 14.0|47 16 4¢ N-1 v3 -50 43.0 13.0(32 31 4vDO-1 4A 200 42.0 14.0
2 4 3NO= aT -600 32.0 24.0|58 3 3¢ S-1 &T -50 43.0 13.0(39 24 3v O-2 4 A 200 42.0 14.0
8 55 3NO= 46 -600 32.0 24.0|10 53 4¢ S-2 vA -100 36.0 20.0|27 36 3# N+1 +9 130 37.0 19.0
10 53 3NO= aT -600 32.0 24.0|13 50 3¢DS-1 vA -100 36.0 20.0|35 28 4# N= vA 130 37.0 19.0
13 50 3NO = oT -600 32.0 24.0|14 49 4¢ S-2 &T -100 36.0 20.0| 9 54 2NS= vT 120 34.0 22.0
27 36 3NO= ¢ A -600 32.0 24.0| 8 55 44 O= +9 -130 31.0 25.0|23 40 3vO-1 & A 100 29.0 27.0
30 33 3NO= *Q -600 32.0 24.0|27 36 34 O+1 *J -130 31.0 25.0|37 26 3v O-1 4 A 100 29.0 27.0
32 31 3NO= *Q -600 320 24.0| 9 54 440 +1 +9 -150 250 31.0|51 12 3vO-1 4 A 100 29.0 27.0
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45 18 3NO= va -600 32.0 24.0|23 40 3# O +2 +9 -150 25.0 31.0|58 3 3v0O-1 s A 100 29.0 27.0
58 3 3NO= v7 -600 32.0 24.0|46 17 4 O +1 *7 -150 25.0 31.0|10 53 44 N-1 +9 -50 22.0 34.0
5 1 3NO+1 aT -630 13.0 43.0|48 15 44 O +1 +8 -150 25.0 31.0|25 38 3NS-1 2 -50 22.0 34.0
6 57 3NO+1 v4 -630 13.0 43.0| 6 57 34 O+3 *J -170 19.0 37.0|47 16 5& N-1 +9 -50 22.0 34.0
21 42 3NO+1 *0Q -630 13.0 43.0|20 43 4% O +2 *7 -170 19.0 37.0| 2 4 3NS-2 aJ -100 15.0 41.0
22 41 3NO+1 *A -630 13.0 43.0|45 18 44 O +3 *T -190 16.0 40.0|13 50 5# N-2 +9 -100 15.0 41.0
23 40 3NO +1 *A -630 13.0 43.0|21 42 INDO+1 9 -280 14.0 42.0|20 43 5% S-2 vT -100 15.0 41.0
25 38 3NO+1 v4 -630 13.0 43.0| 2 4 4¢DS-2 ©vA -300 11.0 45.0|29 34 5% N-2 +9 -100 15.0 41.0
37 26 3NO+1 *Q -630 13.0 43.0|32 31 4¢DS-2 YA -300 11.0 45.0| 6 57 54DN-2 +¢9 -300 8.0 48.0
46 17 3NO+1 va -630 13.0 43.0|30 33 INDO+2 ¥K -380 8.0 48.0(46 17 44DN-2 +9 -300 8.0 48.0
51 12 3NO+1 v5 -630 13.0 430 5 1 540= a A -400 40 52.0|56 7 34DN-2 ¢9 -300 8.0 48.0
56 7 3NO+1 va -630 13.0 43.0|37 26 5# V= *7 -400 40 520(45 18 4¢DS-3 vT -500 40 52.0
14 49 2¢yDN-3 4Q -800 10 55.0|56 7 3NO= *7 -400 40 52.0(14 49 2¢DO= s A -670 1.0 55.0
20 43 2¢vDS-3 T -800 1.0 55.0|25 38 54D O = aA -550 0.0 56.0|52 11 2¢vDO= aA -670 1.0 55.0
10 « DKn42 11 « EKD5 12 #1075
Ost v D652 Syd vKn109 Vast vE4
Alla +96 Ingen + D62 NS ¢+ E10
&D42 £986 #DKn10943
105 48 4 Kn94 1086 4 D962 & KKn4
vEKn84 v10 v K65 v ED873 vDKn876 v 102
¢ E10 + DKn87432 ¢ KKn10954 ¢ 3 +75 + K986
&#Kn7653 #EK98 &E £10432 K7 #E852
« EK9763 4732 « E83
v K973 v42 v K953
+ K5 ¢ E87 ¢ DKn432
#10 #KDKn75 *6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 55 54DV-4 &A 1100 56.0 0.0(52 13 4¢vDO-2 «K 300 55,0 1.0|31 34 2NDO-2 3 300 55.0 1.0
14 51 34DS= ¢ A 730 540 20(57 8 4vDV-2 &K 300 55.0 1.0|52 13 24DO-2 %6 300 55.0 1.0
20 45 44 S= ¢ A 620 520 40| 7 1 2NS+2 *T 180 520 4.0|58 4 2¢ O0-4 *6 200 52.0 4.0
52 13 34 S= *A 140 50.0 6.0(11 54 34 S+1 &A 170 50.0 6.0({26 39 2&#DN= vT 180 50.0 6.0
21 44 44 S-1 ¢ A -100 46.0 10.0(14 51 24 N+1 +3 140 48.0 8.0(10 55 2N S+1 v6 150 48.0 8.0
28 37 34 S-1 ¢ A -100 46.0 10.0|46 19 34 S+1 +9 130 46.0 10.0 (48 17 3& N +1 &3 130 46.0 10.0
31 34 44 S-1 *A -100 46.0 10.0|20 45 34 S= *J 110 440 120 3 5 INN+1 s K 120 43.0 13.0
11 54 44 O +1 &K -150 42.0 14.0|38 27 3v O-2 &K 100 40.0 16.0|40 25 2NS= v6 120 43.0 13.0
7 1 44 0+2 4 A -170 38.0 18.0|48 17 4v O-2 &K 100 40.0 16.0 (20 45 3& N= a4 110 37.0 19.0
24 41 4¢ O+2 4 A -170 38.0 18.0|58 4 5v O-2 a7 100 40.0 16.0(22 43 2# N +1 vT 110 37.0 19.0
47 18 4% O +2 aA -170 38.0 180| 6 2 3¢ V-1 a A 50 34.0 22.0(38 27 2& N +1 vT 110 37.0 19.0
3 5 44 S-2 ¢ A -200 29.0 27.0| 9 56 3¢ V-1 4 A 50 340 22.0|46 19 2# N +1 vT 110 37.0 19.0
6 2 44 S-2 *A -200 29.0 27.0|15 50 3¢ V-1 aA 50 340 22.0|30 35 3vDV-1 #Q 100 32.0 24.0
22 43 44 N-2 &A -200 29.0 27.0|22 43 24 N-1 +3 -50 30.0 26.0(47 18 2& N= vT 90 30.0 26.0
23 42 44DS-1 +A -200 29.0 27.0|28 37 2¢ V= 4 A -90 27.0 29.0(36 29 INO= v3 -90 28.0 28.0
26 39 44DS-1 +A -200 29.0 27.0|40 25 2¢ V= a A 90 270 290| 7 1 3#N-1 vT -100 21.0 35.0
58 4 44DS-1 +A -200 29.0 27.0| 3 5 2NS-2 v6 -100 19.0 37.0|11 54 24 N-1 vT -100 21.0 35.0
33 32 4vDN-2 &K -500 22.0 34.0|10 55 34 N-2 +3 -100 19.0 37.0|23 42 34 N-1 vT -100 21.0 35.0
30 35 5¢ O= a A -600 17.0 39.0|21 44 34 N-2 +3 -100 19.0 37.0(24 41 3NS-1 v6 -100 21.0 35.0
48 17 5 0= aA -600 17.0 39.0|23 42 34 S-2 v5 -100 19.0 37.0(33 32 3NS-1 a2 -100 21.0 35.0
49 16 5 0O = 4 A -600 17.0 39.0|26 39 2¢ N-2 v3 -100 19.0 37.0|53 12 2# N-1 vT -100 21.0 35.0
53 12 5¢ O = a A -600 17.0 39.0|30 35 34 N-2 ¢2 -100 19.0 37.0|15 50 2v V= £Q -110 13.0 43.0
9 56 5¢ O+1 a A -620 10.0 46.0|33 32 2¢ V+2 &K -130 12.0 44.0|49 16 24 V= L Jo) -110 13.0 43.0
15 50 5# V +1 4Q -620 10.0 46.0|24 41 3v O= v2 -140 7.0 490 9 56 INDO= 2 -180 10.0 46.0
57 8 54 0+1 a A -620 10.0 46.0|31 34 3v O= L JO) -140 70 490 6 2 2&#N-2 vT -200 6.0 50.0
36 29 5¢DO= &K -750 3.0 53.0(47 18 3v O = &K -140 7.0 49.0(14 51 3NS-2 a2 -200 6.0 50.0
38 27 54DV = 4Q -750 3.0 53.0(49 16 3v O= &K -140 7.0 49.0(28 37 3&N-2 v4 -200 6.0 50.0
40 25 5¢DO= a A -750 3.0 53.0(53 12 3NN-3 v7 -150 20 540(21 44 3NS-4 vQ -400 2.0 540
46 19 5¢DO= aA -750 3.0 53.0(36 29 34 N-4 +6 -200 0.0 56.0(57 8 5¢DN-4 *T -1100 0.0 56.0
13 «ED43 14 « EKN93 15 965
Nord v KDKn7 Ost v D42 Syd v DKn103
Alla + 1092 Ingen + K106 NS + K4
»K2 &E102 #Kn975
a- & KKn875 D102 4 K876 « EK108 & DKn4
v 63 v 10985 vEKn63 vK8 v K5 v 9862
¢+ EKD43 .7 ¢ D532 +Kn98 4 965 + E10832
#Kn107653 #D98 #383 #9754 &ED64 #10
10962 454 4732
v E42 v 10975 vE74
+ Kn865 ¢ E74 ¢ DKn7
&E4 #KDKn6 K832
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
23 44 3¢DV-3 T 800 56.0 0.0(22 45 3NN+1 +8 430 55.0 1.0|27 40 INV= vQ -90 55.0 1.0
11 56 3NS= *A 600 53.0 3.0(23 44 3NS+1 v3 430 550 1.0(34 33 INV= vQ -90 550 1.0
22 45 3NN= *7 600 53.0 3.0 8 2 3NN= &5 400 47.0 9.0|22 45 24 V= vQ -110 52.0 4.0
12 55 44D O-1 YA 200 50.0 6.0|12 55 3NN= 45 400 47.0 90| 8 2 INV+1 vQ -120 48.0 8.0
54 13 1IN S +2 *A 150 480 8.0|21 46 3NN= +8 400 470 9.0|31 36 2NV= vQ -120 48.0 8.0
4 6 INN+1 vT 120 46.0 10.0|27 40 3NN= +8 400 47.0 9.0(48 19 INV+1 vQ -120 48.0 8.0
53 14 2v N= *7 110 440 12.0(41 26 3NN= &5 400 470 9.0| 4 6 24 O+1 vQ -140 36.0 20.0
32 35 44 0-1 va 100 42.0 14.0(48 19 3NN= &9 400 470 90| 7 3 240+1 a2 -140 36.0 20.0
1 9 3vN-1 *7 -100 39.0 17.0|25 42 24 O-4 &K 200 40.0 16.0 (21 46 24 V +1 a5 -140 36.0 20.0
25 42 3vS-1 ¢ A -100 39.0 17.0|54 13 INN+3 a7 180 38.0 18.0|29 38 24 V+1 vQ -140 36.0 20.0
16 51 3&V= vK -110 36.0 20.0] 1 9 2NN+1 &5 150 28.0 28.0|39 28 24 V+1 45 -140 36.0 20.0
8 2 3vN-2 *7 -200 27.0 29.0| 4 6 2NN+1 &5 150 28.0 28.0 (41 26 24 V+1 vQ -140 36.0 20.0
10 57 3v N-2 *2 -200 27.0 29.0|10 57 INS+2 a2 150 28.0 28.0|47 20 24 V+1 vQ -140 36.0 20.0
21 46 44 N-2 L] -200 27.0 29.0|15 52 2N N+1 a7 150 28.0 28.0(49 18 24 V +1 vQ -140 36.0 20.0
29 38 3v S-2 ¢A -200 27.0 29.0|24 43 2NN+1 +8 150 28.0 28.0 (50 17 24 V+1 vQ -140 36.0 20.0
41 26 44 N-2 *7 -200 27.0 29.0|31 36 2NN+1 +9 150 28.0 28.0|16 51 INV+2 vQ -150 26.0 30.0
48 19 34 N-2 *7 -200 27.0 29.0|37 30 2NN+1 LY 150 28.0 280 1 9 24 V+2 vQ -170 16.0 40.0
50 17 44 S-2 ¢A -200 27.0 29.0(39 28 INS+2 v6 150 28.0 28.0|10 57 24 V+2 a5 -170 16.0 40.0
58 5 3NN-2 &8 -200 27.0 29.0|50 17 INN+2 &5 150 28.0 28.0|12 55 24 O+2 vQ -170  16.0 40.0
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24 43 44 S-3 ¢ A -300 15.0 41.0|34 33 3v S= a2 140 18.0 38.0(15 52 24 V+2 vQ -170 16.0 40.0
31 36 44 S-3 ¢+ K -300 15.0 41.0|29 38 INS+1 +3 120 15.0 41.0(24 43 24 V+2 vQ -170 16.0 40.0
34 33 44 N-3 +K -300 15.0 41.0|32 35 INN+1 46 120 15.0 41.0(25 42 24 V+2 vQ -170 16.0 40.0
39 28 44 N-3 +6 -300 150 41.0| 7 3 INN= +4 90 11.0 45.0(37 30 24 V+2 vQ -170 16.0 40.0
37 30 4vyDN-2 %6 -500 9.0 47.0|47 20 INS= +3 90 11.0 45.0(54 13 24 V+2 vQ -170 16.0 40.0
47 20 44DN-2 o7 500 9.0 47.0|11 56 3NS-1 +3 50 4.0 52.0(58 5 24 V+2 vJ -170 16.0 40.0
7 3 3#DO= #A -670 5.0 51.0|16 51 3NN-1 46 -50 4.0 52.0(32 35 INV+3 vQ -180 6.0 50.0
27 40 3#DO=  #A -670 5.0 51.0|49 18 3NS-1 ¢3 50 4.0 52.0(23 44 2y N-4 &T -400 4.0 52.0
15 52 44DS-3 ¢A -800 1.0 55.0|53 14 3NN-1 a7 -50 4.0 52.0|11 56 44 V= vl] -420 1.0 55.0
49 18 44DS-3 +¢A -800 1.0 55.0|58 5 3NN-1 +8 -50 4.0 52.0|53 14 44 V= vQ -420 1.0 55.0
16 K7 17 » EK762 18 4109752
Vast v76 Nord vKD Ost v EKn4
ov + D863 Ingen 4652 NS + D632
#109843 »754 &D
«E854  4Knl093 21093 D854 4 863 +Kn4
vEK432 v1098 v 432 v E10986 v 932 v K10765
¢E104 #KKn5 ¢ D74 ¢ Kn98 ¢EKn8 +KI10
&5 #EKn2 #DKn86 #3 #10987 #EKKn5
& D62 aKn « EKD
v DKn5 vKn75 vD8
+972 + EK103 ¢ 9754
#KD76 #EK1092 #6432
Par Kontr ut Res Poéng Par Kontr ut Res Poéang Par Kontr ut Res Poéang
24 45 3e V-1 &T 100 55.0 1.0|22 47 3vyDO-3 &J 500 56.0 0.0|23 46 34 N= +K 140 55.0 1.0
35 34 44 O-1 &K 100 55.0 1.0{40 29 3NN+1 v9 430 540 2.0(38 31 24 N+1 &K 140 55.0 1.0
25 44 34 O+1 vQ -170 510 5.0|58 6 44 N= 3 420 52.0 4.0{49 20 24 N= *A 110 51.0 5.0
50 19 2v V+2 oK -170 510 50| 5 7 3NN= v9 400 39.0 17.0|50 19 24 N= &A 110 51.0 5.0
17 52 2v V+3 «K -200 470 9.0|11 1 3NS-= +4 400 39.0 17.0(28 41 44 O-1 oA 50 45.0 11.0
55 14 24 V+3 &T -200 470 9.0|16 53 3NN= v9 400 39.0 17.0(30 39 4+ 0-1 &4 50 45.0 11.0
11 1 INO+5 *Q -240 43.0 13.0|17 52 3NN= v9 400 39.0 17.0|33 36 4v O-1 oK 50 45.0 11.0
26 43 INO+5 a2 -240 43.0 13.0|24 45 3NS= *6 400 39.0 17.0|51 18 3v O-1 s A 50 45.0 11.0
13 56 3NO= &7 -600 40.0 16.0|28 41 3NN= v9 400 39.0 17.0|25 44 1v O= s A -80 39.0 17.0
22 47 44 O= +K -620 36.0 20.0|30 39 3NN-= v4 400 39.0 17.0|58 6 1v O= oK -80 39.0 17.0
30 39 44 O= +9 -620 36.0 20.0|32 37 3NN= v9 400 39.0 17.0|11 1 INO= oK -90 36.0 20.0
33 36 4v V= &T -620 36.0 20.0|49 20 3NN= v9 400 390 17.0( 5 7 34 N-1 *A -100 32.0 24.0
2 10 44 O+1 *Q -650 21.0 35.0|50 19 3NN= v6 400 39.0 17.0|22 47 34 N-1 *A -100 32.0 24.0
5 7 44 O +1 *2 -650 21.0 35.0|51 18 3NS= +4 400 39.0 17.0(26 43 34 N-1 *A -100 32.0 24.0
8 4 4y V+1l oK -650 21.0 35.0(54 15 3NS= ¢4 400 39.0 17.0] 2 10 2v O = oK -110 22.0 34.0
9 3 4vV+l v7 -650 21.0 35.0|55 14 3 S= v2 110 26.0 30.0|13 56 3+ O= oA -110 22.0 34.0
16 53 4v V+1 &T -650 21.0 35.0|25 44 3NO-1 v6 50 240 32.0(16 53 2v O= s A -110 22.0 34.0
28 41 44 O+1 +K -650 210 350| 8 4 3NN-1 v6 -50 15.0 41.0|17 52 3+ 0= oA -110 22.0 34.0
32 37 4v V+1 *3 -650 210 350| 9 3 3NN-1 v9 -50 15.0 41.0(24 45 1v O+1 s A -110 22.0 34.0
40 29 44 O+1 +4 -650 21.0 35.0|12 57 3NN-1 v9 -50 15.0 41.0(42 27 29 O= s A -110 22.0 34.0
42 27 44 O+1 +K -650 21.0 35.0|23 46 3NN-1 v6 -50 15.0 41.0|55 14 1v O+1 oK -110 22.0 34.0
48 21 4v V+1 oK -650 21.0 35.0|26 43 3NN-1 v9 50 15.0 41.0| 8 4 2v0O+1 s A -140 9.0 47.0
54 15 4v V+1 &T -650 21.0 35.0|38 31 5 N-1 v3 50 15.0 41.0| 9 3 2vO+1 s A -140 9.0 47.0
58 6 44 O+1 *Q -650 21.0 35.0|42 27 3NN-1 v5 -50 15.0 41.0|12 57 2v O+1 s A -140 9.0 47.0
49 20 3N O +2 +K -660 8.0 48.0|48 21 3NN-1 v9 -50 15.0 41.0(32 37 3v O= oK -140 9.0 47.0
12 57 49 O +2 &9 -680 4.0 52.0|13 56 6% S-2 v4 -100 4.0 52.0|48 21 2v O+1 s A -140 9.0 47.0
23 46 4e O+2 +K -680 4.0 52.0|33 36 3NN-2 v8 -100 4.0 52.0|54 15 3v O= 2Q -140 9.0 47.0
51 18 44 O +2 &K -680 4.0 52.0|35 34 6#S-2 oT -100 4.0 52.0|35 34 34 N-2 *A -200 1.0 55.0
38 31 7#DN-7 &2 -1700 0.0 56.0| 2 10 3NN-3 v6 -150 0.0 56.0|40 29 34 N-2 *A -200 1.0 55.0
19 » 864 20 «ED102 21 « K653
Syd vD8 Vast v 983 Nord v Kn10874
oV + E1095 Alla ¢ KDKn9 NS + D94
*K876 #63 3
4EKD10 4752 4 K963 4Kn874 4E92 4D108
vEKn1095 vK62 v D54 v EK6 vK93 vD6
+ D6 ¢ 732 +10 +43 ¢EB76 ¢ Kn32
«D9 #E1053 #EK952 £10874 #KKn8 #E9652
« Kn93 a5 «Kn74
v 743 vKnl1072 vE52
¢ KKn84 ¢ E87652 ¢ K105
#Kn42 #DKn «D1074
Par  Kontr ut Res Poang Par  Kontr ut Res Poéang Par  Kontr ut Res Poang
12 2 3NO-1 ¢5 100 540 20|12 2 44DO-3 vJ 800 56.0 0.0|17 54 3NV-3 vJ 150 52.0 4.0
23 48 4v V-1 46 100 540 2.0(33 38 3NS+1 *2 630 540 20|36 35 3NV-3 v5 150 52.0 4.0
41 30 4v V-1 a4 100 540 2.0|14 57 44DV-1 ¢K 200 490 7.0|41 30 3NV-3 vJ 150 52.0 4.0
43 28 3v V= a4 -140 490 7.0|23 48 34 V-2 ¢+K 200 490 7.0|49 22 3NV-3 vJ 150 52.0 4.0
52 19 3v V= 46 -140 490 7.0|26 45 34 V-2 +K 200 490 7.0|55 16 2NV -3 vJ 150 52.0 4.0
26 45 1v V+3 a4 -170  46.0 10.0|31 40 34DO-1 #J 200 490 7.0|43 28 2v N= 8 110 46.0 10.0
58 7 INO+4 49 -210 44.0 12.0|17 54 24 V-1 ¢+ K 100 410 150| 9 5 2NV-2 v4 100 37.0 19.0
14 57 3v V+3 *7 -230 410 15.0|18 53 44 O-1 vJ 100 410 15.0|12 2 3NO-2 vJ 100 37.0 19.0
34 37 2v O+4 *6 -230 410 15.0|36 35 44 O-1 ¢ A 100 410 15.0|14 57 3NV-2 v)J 100 37.0 19.0
27 44 3NO= *4 -600 36.0 20.0|50 21 34 O-1 v2 100 41.0 15.0|24 47 3NV-2 v4 100 37.0 19.0
31 40 3NO= +4 -600 36.0 20.0| 3 11 2v S-1 &A -100 33.0 23.0|26 45 2NV -2 vJ 100 37.0 19.0
33 38 3NO= +4 -600 36.0 200| 6 8 3¢ S-1 &A -100 33.0 23.0|27 44 2NV -2 v)J 100 37.0 19.0
13 1 4v V= ¢ A -620 28.0 28.0|24 47 3¢ S-1 *A -100 33.0 23.0|50 21 2NV-2 v4 100 37.0 19.0
36 35 4v V= +5 -620 28.0 28.0|55 16 3¢ S-1 &A -100 33.0 23.0|51 20 3NV-2 vJ 100 37.0 19.0
39 32 4v V= &7 -620 28.0 28.0|34 37 24 V= ¢ A -110 270 29.0| 3 11 3NO-1 v8 50 18.0 38.0
49 22 4v V= a2 -620 28.0 28.0|43 28 24 O= *Q -110 270 290| 6 8 INV-1 v4 50 18.0 38.0
55 16 4v V= +9 -620 28.0 280| 9 5 24 O+1 a5 -140 19.0 37.0|10 4 INV-1 vJ 50 18.0 38.0
311 4v V+1 a5 -650 17.0 39.0|10 4 34 V= +K -140 190 37.0|13 1 INV-1 v8 50 18.0 38.0
10 4 4v V+1 *7 -650 17.0 39.0|25 46 34 O= vJ -140 19.0 37.0|23 48 3#0-1 vA 50 18.0 38.0
17 54 4v V+1 a4 -650 17.0 39.0|29 42 34 O= vJ -140 19.0 37.0|25 46 3NO-1 v4 50 18.0 38.0
50 21 4v V+1 &7 -650 17.0 39.0|56 15 34 V= +K -140 19.0 37.0|31 40 2N V-1 v7 50 18.0 38.0
51 20 4v V+1 *7 -650 17.0 39.0|58 7 34 O= ¢A -140 19.0 37.0|33 38 2NV-1 v2 50 18.0 38.0
56 15 4v V+1 a4 -650 17.0 39.0|39 32 24 O+2 *Q -170 12.0 44.0|34 37 3NV-1 +4 50 18.0 38.0
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29 42 3N O +2 v3 -660 10.0 46.0|13 1 3v S-2 *T -200 6.0 50.0|56 15 INV-1 vJ 50 18.0 38.0
9 5 4y V+2 &7 -680 6.0 50.0|27 44 4¢ S-2 &A -200 6.0 500|588 7 2NV-1 v7 50 18.0 38.0
24 47 4v V +2 &7 -680 6.0 50.0(49 22 4¢ S-2 &A -200 6.0 50.0(18 53 INV= vJ -90 6.0 50.0
25 46 4v V +2 &7 -680 6.0 50.0|51 20 4¢ S-2 &A -200 6.0 50.0|29 42 2NO+1 &7 -150 4.0 52.0
6 8 3INO+3 v7 -690 1.0 55.0(52 19 INS-2 &A -200 6.0 50.0|39 32 2¢yDN-1 ¢2 -200 1.0 55.0
18 53 3NV +3 &7 -690 1.0 55.0|41 30 4¢DS-2 &A -500 0.0 56.0|52 19 2¢ S-2 &2 -200 1.0 55.0
22 « D10653 23 « EKDKNn104 24 «D10873
Ost v Kn9 Syd v6 Vast v D952
ov + Kn8 Alla * 742 Ingen + K8
&#KKn108 &#Kn65 &76
LY:] & KKn74 @- 463 4Kn952 &E6
v EK103 v742 vK543 vD109872 v K83 v104
¢ K1062 ¢ E753 ¢ KD105 ¢ Kn 42 + DKn105
&#D763 &52 #K9842 #ED103 &#K942 #ED853
4 E92 498752 & K4
v D865 v EKn v EKn76
+ D94 + E9863 ¢ E9763
&E94 &7 #Knl0
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
32 41 3¢ V-2 a3 200 55,0 10| 7 9 44 N= *J 620 51.0 5.0|57 16 5&DV -2 v5 300 56.0 0.0
57 16 INDO-1 &2 200 55.0 1.0(27 46 44 N= *J 620 51.0 5.0(52 21 3v S= &K 140 51.0 5.0
37 36 INS+3 vK 180 520 4.0|28 45 44 S= +K 620 51.0 5.0|53 20 2v N+1 s A 140 51.0 5.0
10 6 24 N+2 &5 170 50.0 6.0|37 36 44 N= *J 620 51.0 5.0|56 17 3v N= +Q 140 51.0 5.0
4 12 INS+2 vA 150 48.0 8.0(44 29 44 N= *J 620 51.0 50|58 8 2v N+1 v2 140 51.0 5.0
14 2 INS+1 vK 120 44.0 12.0(57 16 44 N= *J 620 510 50|11 5 24 N= +Q 110 450 11.0
24 49 INS+1 *2 120 440 12014 2 6vyDO-1 &7 200 41.0 15.0(50 23 2v S= &4 110 45.0 11.0
25 48 INS+1 *2 120 440 12.0|15 1 6vDO-1 &2 200 41.0 15.0(18 55 44 O-1 &J 50 40.0 16.0
7 9 24 N= v2 110 39.0 17.0|50 23 6vDO-1 ¢A 200 41.0 15.0(35 38 3NV-1 v5 50 40.0 16.0
53 20 24 N= &5 110 39.0 17.0|51 22 6vDO-1 +A 200 41.0 15.0|37 36 44 O-1 vA 50 40.0 16.0
34 39 3¢ O-1 v6 100 34.0 22.0(32 41 6v O-1 ¢ A 100 36.0 20013 3 3v N-1 +Q -50 34.0 22.0
42 31 3¢ O-1 s A 100 340 22010 6 54 N-1 &A -100 31.0 25.0(24 49 3v N-1 +Q -50 34.0 22.0
44 29 INV-1 46 100 340 220|11 5 54 N-1 *J -100 31.0 25.0|26 47 3v S-1 &4 -50 34.0 22.0
18 55 INS= *2 90 28.0 28.0(26 47 54 N-1 *J -100 31.0 25.0(40 33 INO= v6 -90 30.0 26.0
27 46 INS= vA 90 28.0 28.0|40 33 54 N-1 *J -100 31.0 25.0(10 6 4v S-2 &4 -100 26.0 30.0
40 33 INS= *2 90 28.0 28.0|18 55 54DN-1 T -200 25.0 31.0(28 45 24 N-2 +Q -100 26.0 30.0
13 3 24 N-1 v2 -50 17.0 39.0|42 31 54DN-1 &A -200 25.0 31.0(32 41 24 S-2 *4 -100 26.0 30.0
15 1 24 N-1 v7 -50 17.0 39.0(53 20 54RDS-1 v4 400 220 34.0| 4 12 3#0= &K -110 18.0 38.0
26 47 34 N-1 ¢ A -50 17.0 39.0(13 3 5v 0= &7 -650 19.0 37.0|25 48 34 O= A -110 18.0 38.0
28 45 24 N-1 v7 -50 17.0 39.0(52 21 5v O= ¢ A -650 19.0 37.0|27 46 2# O +1 &J -110 18.0 38.0
30 43 24 N-1 &5 -50 17.0 39.0|24 49 4% O +2 a5 -680 12.0 44.0|30 43 2# O +1 &J -110 18.0 38.0
50 23 INS-1 &6 -50 17.0 39.0(30 43 5v V+1 &K -680 12.0 44.0|51 22 24 O+1 &K -110 18.0 38.0
51 22 INS-1 vA -50 17.0 39.0(34 39 5v O+1 49 -680 120 44.0| 7 9 INO+1 *2 -120 11.0 45.0
52 21 24 N-1 v2 -50 17.0 39.0|56 17 5v O+1 49 -680 12.0 44014 2 INO+1 +3 -120 11.0 45.0
19 54 2¢ V= T -90 8.0 480(58 8 5v O+1 LY:] -680 12.0 44.0|19 54 1INO +2 +6 -150 6.0 50.0
56 17 34 N-3 &5 -150 50 51.0| 4 12 5vDO= &7 -850 40 52.0|34 39 INO+2 v6 -150 6.0 50.0
58 8 24 N-3 v2 -150 5.0 51.0(25 48 5vDO= 49 -850 40 52.0(42 31 2¢ S-3 a2 -150 6.0 50.0
35 38 24DN-2 ¢3 -300 2.0 54.0|35 38 5vDO= *7 -850 40 520|15 1 INO+3 v7 -180 2.0 54.0
11 5 34DN-3 2 -500 0.0 56.0|19 54 5vDV+1 &2 -1050 0.0 56.0|44 29 3¢DS-4 &4 -800 0.0 56.0
25 « ED106 26 a7 27 410
Nord vE97632 Ost v108 Syd v 10875
ov *7 Alla + 104 Ingen + 104
&74 &#EKD85432 #KDKn862
&4 KKn84 4953 & EKDKNn86 952 4383 & KKn9642
v K5 v D104 v KKn5 v 9642 vE932 vD6
49862 ¢ KD543 + E87 + K92 +Kn762 ¢ D95
K85 &32 &Kn #1096 &#E107 53
a72 #1043 «ED75
v Kn8 vED73 v KKn4
¢+ EKn10 + DKn653 + EK83
&#EDKN1096 &7 »94
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 13 3NS+1 +9 430 50.0 6.0|45 30 44D N= a3 710 56.0 00| 5 13 3NS= LY:] 400 490 7.0
8 10 3NS+1 & K 430 50.0 6.0|29 46 54DV-2 &A 500 540 20|11 7 3NS= +6 400 490 7.0
12 6 3NN+1 a5 430 50.0 6.0|19 56 64 V-3 &A 300 510 50|14 4 3NS= v5 400 490 7.0
25 50 3NS+1 LY:] 430 50.0 6.0|54 21 54 V-3 &A 300 51.0 5.0|20 55 5& N = LY 400 490 7.0
26 49 3NN+1 +3 430 50.0 6.0 1 17 44 V-2 &A 200 47.0 9.0|31 44 3NS= rY:] 400 490 7.0
29 46 3NN +1 a3 430 50.0 6.0({20 55 44DV-1 #A 200 47.0 9.0|38 37 3NS= +6 400 490 7.0
38 37 3NN+ +K 430 50.0 6.0|26 49 44 S= s A 130 41.0 150|51 24 3NS= *7 400 490 7.0
1 17 4v N= &3 420 340 22.0|36 39 44 N= &T 130 41.0 15.0|57 18 3NS= +6 400 490 7.0
11 7 4v N= K 420 34.0 22.0(52 23 44 N= *2 130 41.0 15.0|28 47 3¢ V-5 aT 250 40.0 16.0
16 2 4y N= +Q 420 340 22058 9 44 N= &7 130 410 150| 1 17 3« N+2 &7 150 33.0 23.0
19 56 4v N= +K 420 340 220|15 3 44 V-1 &A 100 320 24.0| 8 10 44 S+1 rY:] 150 33.0 23.0
27 48 4v N= *+ K 420 34.0 22.0(31 44 44 V-1 &A 100 320 24015 3 3&S+2 43 150 33.0 23.0
28 47 4v N= +K 420 34.0 22.0|41 34 44 V-1 &A 100 320 24.0|27 48 44 S+1 LY:] 150 33.0 23.0
36 39 4v N= &2 420 34.0 22.0|43 32 44 V-1 &A 100 32.0 24.0|35 40 INN+2 rY:] 150 33.0 23.0
43 32 4y N= +Q 420 34.0 22.0(51 24 54 V-1 &A 100 32.0 24.0(43 32 3& S +2 48 150 33.0 23.0
58 9 4v N= a3 420 340 220|12 6 44 N-1 &A -100 22.0 34.0(58 9 3vS= LY:] 140 26.0 30.0
14 4 3NN= +3 400 200 36.0|14 4 54 N-1 v4 -100 22.0 34.0(29 46 3 N+1 vQ 130 22.0 34.0
15 3 3NN= a3 400 20.0 36.0(16 2 5& N-1 49 -100 22.0 34.0(52 23 3& N +1 vQ 130 22.0 34.0
51 24 3NS= +6 400 20.0 36.0|27 48 44 N-1 a2 -100 22.0 34.0|54 21 34 S+l v2 130 22.0 34.0
52 23 3NN= a2 400 20.0 36.0|33 42 44 N-1 a2 -100 22.0 34.0(45 30 24 O-1 ¢+ A 50 18.0 38.0
54 21 3NN= +3 400 20.0 36.0(11 7 34 V+1 &A -170 16.0 40.0(16 2 3NS-1 v2 -50 13.0 43.0
57 18 2v N+2 K 170 140 420 5 13 54DN-1 ¢2 -200 12.0 44.0(19 56 2NN-1 &T -50 13.0 43.0
35 40 3& S +2 LY 150 11.0 45.0(35 40 5# N-2 a2 -200 12.0 44.0(26 49 3NS-1 ’Y:] -50 13.0 43.0
53 22 34 S+2 +8 150 11.0 45.0|53 22 54DN-1 &2 -200 12.0 44.0(36 39 3NS-1 a5 -50 13.0 43.0
41 34 34 S+1 +6 130 8.0 48.0|25 50 54DN-2 ¢5 -500 8.0 48.0(12 6 3NN-2 a5 -100 4.0 52.0
20 55 4v N-1 49 -50 40 520| 8 10 4e V= &A -620 40 520|125 50 3NS-2 ’Y:] -100 4.0 52.0
31 44 4y N-1 &3 -50 4.0 52.0|28 47 4e V= &A -620 40 52.0|33 42 3NS-2 v2 -100 4.0 52.0

BK S:t Erik, Nyarssilver 2009-01-01, sida 5 av 8




33 42 3NN-1 +9 -50 4.0 57 18 44 V= &A -620 4.0 41 34 3NS-2 *2 -100 4.0
45 30 4y N-2 +K -100 0.0 38 37 5vyDS-5 @A -1400 0.0 53 22 6vyDN-1 &5 -100 4.0
4 K32 29 « KDKn865 30 4 E32
v 942 Nord v9 Ost v 10986
+ K764 Alla +3 Ingen 492
965 #KKn962 #Kn953
210964 «D7 sE 4932 &4 Kn9654 «87
vKn85 vE vEKn1042 D7 v- vED74
+ 832 + DKn1095 ¢ 10542 + EK987 ¢ E8763 ¢D10
#E107 #D8432 D87 &E104 »K86 &D10742
& EKn85 #1074 «KD10
vKD10763 v K8653 v KKn532
¢E + DKn6 ¢ KKn54
&#KKn &53 &»E
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
21 56 4v S+1 v5 650 55.0 1.0(28 49 24 N+1 ¢A 140 55,0 1.0|20 57 4¢vDS= LY 590 53.0 3.0
44 33 4v S+1 &A 650 55.0 1.0|52 25 34 N= ¢ A 140 55,0 1.0|21 56 4¢vDS= LY 590 53.0 3.0
1 19 4v S= +8 620 470 9.0(|16 4 4v V-1 & K 100 520 40|28 49 4vDS= a4 590 53.0 3.0
15 5 4v S= *2 620 47.0 9.0|127 50 44 N-1 ¢A -100 470 9.0(39 38 4vDS= LY 590 53.0 3.0
16 4 4v S= T 620 47.0 9.0|32 45 46 N-1 ¢ A -100 47.0 9.0(32 45 4v S+1 A 450 48.0 8.0
27 50 4v S= *2 620 47.0 9.0(36 41 44 N-1 *A -100 470 9.0 1 19 4v S= a4 420 44.0 12.0
32 45 49 S= *2 620 47.0 9.0(53 24 44 N-1 a2 -100 470 9.0(26 51 4v S= LY 420 440 12.0
34 43 49y S= *2 620 470 90| 1 19 4¢ O= &5 -130 42.0 14.0|52 25 4v S= A 420 440 12.0
52 25 3v S+2 +3 200 40.0 16.0| 2 18 3¢ V+2 aT -150 38.0 18.0(30 47 4¢ O-5 vT 250 40.0 16.0
2 18 1v S+3 *2 170 33.0 23.0|29 48 3¢ O+2 LY -150 38.0 18.0(29 48 3v S+1 a5 170 35.0 21.0
12 8 2v N+2 +5 170 33.0 23.0|44 33 4¢ O+1 oT -150 38.0 18.0(36 41 3v S+1 &6 170 35.0 21.0
30 47 3v S+1 +8 170 33.0 23.0( 6 14 44DN-1 vQ -200 31.0 25.0(53 24 3v S+1 a5 170 35.0 21.0
36 41 3v S+1 &A 170 33.0 23.0| 9 11 44 N-2 +K -200 31.0 25.0(54 23 3v N+1 &2 170 35.0 21.0
46 31 3v S+1 *2 170 33.0 23.0|26 51 44 N-2 ¢ A -200 31.0 25.0( 2 18 3v S= LY 140 28.0 28.0
55 22 3v S+1 *2 170 33.0 23.0|30 47 54 N-2 ¢+ K -200 31.0 25.0( 9 11 3v S= 49 140 28.0 28.0
28 49 2v S+1 +8 140 23.0 33.0|21 56 44 N-3 +K -300 26.0 30.0(44 33 3v S= ¢A 140 28.0 28.0
39 38 3v S= *2 140 23.0 33.0|12 8 44DN-2 ¢K -500 21.0 35.0(15 5 2vsS= LY 110 24.0 32.0
42 35 2v S+1 *2 140 23.0 33.0(20 57 44DN-2 +¢A -500 21.0 35.0| 6 14 44 V-2 vT 100 22.0 34.0
58 10 2v S+1 +3 140 23.0 33.0|37 40 44DN-2 ¢A -500 21.0 35.0(12 8 14 0-1 &4 50 19.0 37.0
6 14 4v S-1 *2 -100 12.0 44.0|42 35 44DN-2 <A -500 21.0 35.0(42 35 3aV-1 &5 50 19.0 37.0
9 11 6v S-1 &A -100 120 44.0|13 7 5¢ O= 43 -600 15.0 41.0(37 40 4v S-1 a4 -50 16.0 40.0
13 7 4v S-1 +3 -100 12.0 44.0|55 22 5¢ O= T -600 15.0 41.0(16 4 4vDS-1 «4 -100 8.0 48.0
17 3 4v S-1 *2 -100 12.0 44.0|34 43 5¢ O+1 &5 -620 12.0 44.0(17 3 4v S-2 LY -100 8.0 48.0
26 51 4v S-1 46 -100 12.0 44.0|15 5 5¢DO= a4 -750 7.0 49.0|27 50 4vDS-1 44 -100 8.0 48.0
29 48 4v S-1 +8 -100 12.0 44.0|17 3 5¢DO= LY -750 7.0 49.0|34 43 4v S-2 LY -100 8.0 48.0
54 23 4v N-1 +Q -100 12.0 44.0|46 31 5¢DO= LY -750 7.0 49.0|46 31 4¢vyDS-1 &5 -100 8.0 48.0
37 40 34 N-2 vA -200 3.0 53.0|54 23 5¢DO= LY -750 7.0 49.0|55 22 3v S-2 a4 -100 8.0 48.0
53 24 5v N-2 +Q -200 3.0 53.0|58 10 44DN-3 ¢A -800 20 54.0|58 10 4vDS-1 44 -100 8.0 48.0
20 57 4¢vyDN-2 +¢A -500 0.0 56.0|39 38 44DN-6 ¢A -1700 0.0 56.0|13 7 3NDS-2 LY -300 0.0 56.0
31 & KKn64 32 & K3 33 «ED
Syd v D108 Vast v Kn983 Nord v E1043
NS ¢ E9765 ov * K7 Ingen 49862
&Kn #K10654 D53
41075 « E983 D4 & EKn952 41087 &Kn953
v KKn6432 v97 vEK42 v10765 v D62 v K875
+ 10 ¢ Kn2 ¢+E832 ¢D9 ¢ K43 ¢ E
974 &#EK1052 982 &Kn3 &#KKn84 &E972
«D2 « 10876 & K642
vE5 vD vKn9
¢+ KD843 ¢+ Kn10654 ¢+ DKn1075
D863 &ED7 106
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
37 42 3¢DN+2 T 1070 56.0 00| 3 19 3vDV-2 &5 500 56.0 0.0|27 52 3¢DN= a5 470 56.0 0.0
22 57 5¢DS= a5 750 540 20|28 51 3&DN= +Q 470 540 20| 7 15 2NDO-2 3 300 540 2.0
56 23 4¢DS= *T 710 520 4.0|10 12 3v V-4 &4 400 51.0 50|14 8 3NV-3 +9 150 50.0 6.0
3 19 3NS+1 v3 630 48.0 8.0(31 48 3vV-4 & K 400 51.0 50|17 5 3v V-3 +6 150 50.0 6.0
16 6 3NS+1 &9 630 48.0 8017 5 3v0O-3 &A 300 47.0 9.0|45 34 3NV-3 *2 150 50.0 6.0
53 26 3NN+1 &2 630 48.0 8.0(38 41 3v O-3 &4 300 47.0 9.0|43 36 2¢ S+2 v2 130 46.0 10.0
14 8 3NN= v9 600 400 16.0|18 4 4v O-2 *7 200 420 140| 3 19 INN+1 a3 120 42.0 14.0
17 5 3NS= v3 600 40.0 16.0 (37 42 2v O-2 +6 200 42.0 14010 12 INN+1 &2 120 42.0 140
21 1 3NS= v2 600 40.0 16.0|56 23 34 O-2 vQ 200 42.0 140|138 41 INN+ &7 120 42.0 14.0
29 50 3NS= a5 600 40.0 16.0|47 32 3« N= +Q 110 370 19013 9 3¢ N= &A 110 34.0 22.0
47 32 5¢ S= v4 600 40.0 16.0 (54 25 2# S+1 «Q 110 37.0 19.0|31 48 2¢ N+1 ¢A 110 34.0 22.0
2 20 3yDV-2 & 300 33.0 23.0(13 9 3vO-1 *J 100 29.0 27.0|33 46 3¢ N= v7 110 34.0 22.0
43 36 3vyDV-2 & 300 33.0 23.0|14 8 3v V-1 &4 100 29.0 27.0|40 39 2¢ N+1 &A 110 34.0 22.0
7 15 3¢ S+2 &3 150 220 34.0(21 1 2vV-1 &4 100 29.0 27.0|55 24 3¢ N= a5 110 34.0 22.0
10 12 3¢ S+2 &7 150 22.0 34.0|27 52 3v V-1 +K 100 29.0 27.0| 2 20 INV-2 *2 100 27.0 29.0
13 9 2¢ S+3 v3 150 22.0 34.0|43 36 24 V-1 v8 100 29.0 27.0|47 32 34 0-2 vJ 100 27.0 29.0
28 51 4¢ S+1 v4 150 220 34.0|58 11 3v O-1 *T 100 290 27016 6 INS= &3 90 21.0 35.0
30 49 3¢ N+2 a5 150 220 34.0| 7 15 34 N-1 *2 -50 220 34.0|21 1 INN= v7 90 21.0 35.0
35 44 2¢ S+3 &9 150 220 34.0|22 57 1la V= &4 -80 20.0 36.0|22 57 INN= &2 90 21.0 35.0
40 39 4¢ S+1 a5 150 22.0 34.0|30 49 3NN-2 v6 -100 16.0 40.0(58 11 INN= &7 90 21.0 35.0
45 34 4y O-3 *A 150 22.0 34.0|40 39 44DN-1 ¢Q -100 16.0 40.0({18 4 INN-1 &7 -50 11.0 45.0
54 25 2N S+1 &9 150 22.0 34.0|55 24 44 N-2 v6 -100 16.0 40.0(30 49 24 S-1 v2 -50 11.0 45.0
31 48 3¢ S+1 &4 130 9.0 47029 50 2v O= *J -110 9.0 47.0|35 44 3¢ S-1 v2 -50 11.0 45.0
38 41 3¢ N+1 *2 130 9.0 47.0|33 46 2v V= *7 -110 9.0 47.0|53 26 3¢ N-1 ¢+ A -50 11.0 45.0
55 24 44 S= &4 130 9.0 47.0|35 44 2v V= &4 -110 9.0 47.0(54 25 INN-1 v7 -50 11.0 45.0
58 11 3¢ S+1 a7 130 9.0 47.0|53 26 2v O= vQ -110 9.0 47.0|56 23 INN-1 &7 -50 11.0 45.0
27 52 3NS-1 &4 -100 40 520| 2 20 3v V= v3 -140 3.0 53.0|28 51 INV= v3 -90 3.0 53.0
18 4 5¢DS-1 &6 -200 1.0 55.0(45 34 3v V= &T -140 3.0 53.0|37 42 INV= v4 -90 3.0 53.0
33 46 5¢DS-1 v3 -200 1.0 55.0(16 6 4% N-3 v6 -150 0.0 56.0|29 50 1lv N-2 v5 -100 0.0 56.0
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34 « Kn1054 35 41093 36 486
Ost vD3 Syd v Kn1085 Vast v EKKn1094
NS ¢+ ED765 ov +97 Alla ¢ EKn853
£53 #KD43 &-
4E3 & K962 « D87 & EKKn5 497 « ED1052
v EK98542 v 106 v KD43 v 96 vD72 v8
¢ 92 + K1084 ¢ EDKn64 +8 + K4 7
K9 #ED8 &Kn #E98652 #DKn10983 #E76542
« D87 642 & KKn43
v Kn7 vE72 v 653
4+ Kn3 4 K10532 + D10962
#Kn107642 107 &K
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
28 53 2¢ O+1 &7 -110 56.0 0.0|15 9 3NS= a2 400 56.0 0.0(22 2 6¢ N+1 &A 1390 56.0 0.0
31 50 4v V +1 ¢ A -450 53.0 3.0| 4 20 44 V-1 vJ 100 520 4.0(58 12 5vDN+1 &A 1050 54.0 2.0
36 45 4v V +1 aT -450 53.0 3.0|34 47 3NO-1 a2 100 520 4.0| 4 20 4vyDN+1 7 990 520 4.0
48 33 3N O+2 &4 -460 50.0 6.0|54 27 44 O-1 &T 100 520 4.0(57 24 5vDN= &A 850 50.0 6.0
4 20 4v V+2 &5 -480 310 25.0|14 10 3# 0= a2 -110 48.0 8.0|23 1 74DV-3 ¥vA 800 48.0 8.0
8 16 4v V+2 &5 -480 31.0 25.0|36 45 34 O= &T -140 46.0 10.0(39 42 4v N+2 &A 680 46.0 10.0
11 13 4v V +2 ¢ A -480 31.0 25.0| 8 16 2NO+3 &T -210 44.0 120 3 21 4v N+1 &A 650 40.0 16.0
15 9 4y V+2 &5 -480 31.0 25.0(17 7 3NO= +5 -600 33.0 23.0(17 7 4v N+1 *7 650 40.0 16.0
17 7 49y V+2 &5 -480 310 25.0|18 6 3NV= vJ -600 33.0 23.0(28 53 4v N+1 &A 650 40.0 16.0
18 6 4v V+2 &5 -480 31.0 25.0|22 2 3NO= v2 -600 33.0 23.0(32 49 4v N+1 &A 650 40.0 16.0
19 5 4y V+2 *A -480 31.0 25.0(23 1 3NO= *2 -600 33.0 23.0|41 40 5v N= &A 650 40.0 16.0
22 2 4y V+2 aJ -480 31.0 25.0(30 51 3NV= vJ -600 33.0 23.0(30 51 5¢ N+1 &A 620 32.0 24.0
29 52 4v V +2 &5 -480 31.0 25.0|31 50 3NV= 49 -600 33.0 23.0|34 47 4v N= &A 620 32.0 24.0
30 51 4v V +2 aJ -480 31.0 25.0(41 40 3NO= a2 -600 33.0 23.0|55 26 4y N= &A 620 32.0 24.0
32 49 4y V +2 *A -480 31.0 25.0|55 26 3NV= v5 -600 33.0 230 8 16 64DO-2 ¥3 500 23.0 33.0
34 47 4v V +2 aJ -480 31.0 25.0(56 25 3NO= v2 -600 33.0 23.0|14 10 44DV-2 ©vA 500 23.0 33.0
38 43 4v V +2 &5 -480 31.0 25.0|57 24 3NV= vJ -600 33.0 23.0(15 9 54DO-2 ¥3 500 23.0 33.0
41 40 4v V +2 &5 -480 31.0 25.0( 3 21 3NO+1 &3 -630 16.0 40.0|31 50 6#DV-2 YA 500 23.0 33.0
46 35 4y V +2 &5 -480 31.0 25.0|29 52 3NV +1 +9 -630 16.0 40.0(44 37 64D O-2 v6 500 23.0 33.0
56 25 4v V +2 &5 -480 31.0 25.0|32 49 3NO+1 +3 -630 16.0 40.0|46 35 64DV-2 ©vA 500 23.0 33.0
57 24 4v V +2 &5 -480 31.0 25.0(38 43 3NO+1 *2 -630 16.0 40.0(18 6 5#4DV-1 ©vA 200 14.0 42.0
58 12 4v V +2 a4 -480 31.0 25.0(46 35 3NV +1 vJ -630 16.0 40.0|19 5 640-2 v6 200 14.0 42.0
39 42 3NO+3 &4 -490 11.0 45.0|48 33 3NV +1 T -630 16.0 40.0|54 27 5#DV-1 YA 200 14.0 42.0
44 37 3N O+3 &J -490 11.0 45.0|58 12 3NO+1 46 -630 16.0 40.0(11 13 54 0-1 v3 100 9.0 47.0
23 1 4v V+3 &5 -510 8.0 48.0(11 13 44 O+1 *T -650 8.0 48.0(36 45 5& V-1 vK 100 9.0 47.0
14 10 3NO +4 &4 -520 6.0 50.0(19 5 3NO+2 46 -660 40 52.0|56 25 5v N-1 &A -100 6.0 50.0
321 6v0O= *A -980 2.0 54.0(28 53 3N O +2 +3 -660 40 52.0(48 33 64 N-2 *Q -200 4.0 52.0
54 27 6v V= *A -980 2.0 54.0(44 37 3NO+2 &T -660 40 52.0(|29 52 54DO= v3 -750 20 540
55 26 6v V= *A -980 20 54.0(39 42 24DN-5 «A -1100 0.0 56.0|38 43 6NDS-6 49 -1700 0.0 56.0
37 « EKKNn103 38 « E9864 39 & KKn975
Nord vE1063 Ost v 8643 Syd v 64
NS ¢ K95 ov ¢ DKn3 Alla 49853
&9 10 &EKn
475 496 & Kn53 & K2 4 D104 4 E6
vDKn984 vK2 v2 vE5 v K103 v Kn875
.7 + Kn843 + K92 + 10654 + DKn106 ¢E74
#EKN743 #KD652 #EK9842 #D7653 #3852 #D1043
« D842 « D107 4832
v75 v KDKn1097 v ED92
+ ED1062 ¢ E87 * K2
£108 &Kn *K976
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 25 44 N+2 *4 680 48.0 8.0|47 36 4vDS= &K 590 56.0 00| 5 21 2¢ V-3 v6 300 56.0 0.0
9 17 44 N+2 vK 680 480 8.0|30 53 54DV-2 ¢2 500 540 20|15 11 24 N+3 &4 200 53.0 3.0
16 10 44 N+2 vK 680 48.0 8.0(49 34 4v S= &A 420 51.0 5.0(49 34 24 N+3 &4 200 53.0 3.0
24 2 44 N+2 vK 680 48.0 8.0|58 13 4v S= &A 420 51.0 50| 1 25 24 N+2 &4 170 450 11.0
31 52 54 N+1 vK 680 480 8.0(15 11 54DV-1 +v4 200 48.0 8.0(12 14 24 N+2 &5 170 45.0 11.0
32 51 44 N+2 46 680 480 8.0|16 10 54 V-1 v4 100 45.0 11.0(16 10 24 N +2 &4 170 45.0 11.0
35 48 44 N+2 vK 680 480 8.0|32 51 5#V-1 v4 100 450 11.0(24 2 24 N+2 &3 170 450 11.0
56 27 44 N +2 vK 680 480 80| 1 25 4v S-1 &A -50 29.0 27.0(39 44 24 N+2 &4 170 45.0 11.0
57 26 44 N+2 vK 680 480 80| 4 22 4v S-1 &A -50 29.0 27.0|56 27 24 N+2 &4 170 45.0 11.0
4 22 44 N+1 &K 650 240 320 9 17 4v S-1 &A -50 29.0 27.0[30 53 24 N+1 &2 140 33.0 23.0
5 21 44 N+1 &K 650 240 320(20 6 4v S-1 &A -50 29.0 27.0(32 51 24 S+1 +Q 140 33.0 23.0
12 14 44 N+1 &K 650 240 320(23 3 4vS-1 &A -50 29.0 27.0(35 48 24 N+1 &5 140 33.0 23.0
15 11 44 N+1 *Q 650 240 320(24 2 4vS-1 &K -50 29.0 27.0|37 46 24 N+1 a2 140 33.0 23.0
18 8 44 N+1 &6 650 240 32.0(29 54 4v S-1 &A -50 29.0 27.0|55 28 24 N+1 v7 140 33.0 23.0
19 7 44 N+1 &K 650 24.0 32.0(31 52 4v S-1 &A -50 29.0 27.0(58 13 24 N+1 &4 140 33.0 23.0
23 3 54 N= &K 650 24.0 32.0(33 50 4v S-1 &A -50 29.0 27.0(33 50 INS+1 +Q 120 24.0 32.0
29 54 44 N+1 &K 650 24.0 32.0(37 46 4v S-1 &A -50 29.0 27.0(40 43 INS+1 +Q 120 24.0 32.0
30 53 54 N= &K 650 24.0 32.0(40 43 4v S-1 &A -50 29.0 27.0(47 36 INS+1 *J 120 24.0 32.0
37 46 54 N= &A 650 24.0 32.0(45 38 4v S-1 &A -50 29.0 27.0(18 8 24 N= &4 110 18.0 38.0
40 43 44 N+1 &K 650 240 32.0(56 27 4v S-1 &A -50 29.0 27.0(31 52 24 N= *4 110 18.0 38.0
42 41 44 N+1 &K 650 24.0 32.0(57 26 4v S-1 &A -50 29.0 27.0(42 41 24 N= v7 110 18.0 38.0
47 36 54 N= L J6) 650 24.0 32.0(39 44 5v S-2 &A -100 12.0 440 9 17 INV-1 45 100 12.0 44.0
49 34 44 N+1 &K 650 24.0 32.0(42 41 5v S-2 &A -100 12.0 44.0(23 3 INV-1 45 100 12.0 44.0
55 28 44 N+1 &K 650 24.0 32.0(55 28 4v S-2 &A -100 12.0 44.0(45 38 INV-1 a5 100 12.0 44.0
33 50 5#DV-2 &K 300 70 49.0(18 8 4aV= v4 -130 70 49.0(20 6 INS= +Q 90 8.0 48.0
58 13 54D O-2 42 300 7.0 49.0(35 48 4& V= v4 -130 70 49.0(19 7 Pass 6.0 50.0
45 38 44 O -1 a4 50 40 520| 5 21 5vDS-2 &A -300 20 540 4 22 24 N-1 v7 -100 3.0 53.0
39 44 64 N-1 &K -100 20 54.0|12 14 5vyDN-2 &A -300 20 54.0(29 54 24 N-1 a A -100 3.0 53.0
20 6 54DO= v7 -550 0.0 56.0|19 7 5vDS-2 &K -300 20 54.0(57 26 INDV= 45 -180 0.0 56.0

BK S:t Erik, Nyarssilver 2009-01-01, sida 7 av 8




40 & K765 41 «ED63 42 485
Vast v 3853 Nord v EKDKn Ost vKD3
Ingen ¢+ EDKn4 ov + K102 Alla + K10
&DKn &D5 #K108432
« D832 494 &4Knl052 484 4 Knl097 462
vEKNn106 v942 v 973 v 542 v10984 v652
+83 + K1092 ¢ E83 ¢+ Kn654 + D863 ¢+ EKn74
#632 &E1094 #1086 &EKN73 &6 &EDKnN7
& EKn10 & K97 « EKD43
v KD7 v 1086 v EKn7
¢ 765 + D97 ¢ 952
»K875 »K942 95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poén
1 27 3NS= +8 400 540 20|31 54 3NN+2 LY:] 460 55,0 10| 1 27 3NN+1 *7 630 56.0
10 18 3NN= +9 400 540 2.0|40 45 3NN +2 +5 460 55,0 1.0| 5 23 3NN= v2 600 51.0
31 54 3NS= a3 400 540 20| 1 27 3NN+1 »2 430 35.0 21.0|40 45 3NN= *7 600 51.0
2 26 3NS-1 a3 -50 420 14.0| 5 23 3NN+1 v2 430 35.0 21.0|41 44 3NN= &A 600 51.0
5 23 3NN-1 +9 -50 42.0 14.0|10 18 3NN +1 v2 430 35.0 21.0|57 28 3NN= &4 600 51.0
21 7 3NS-1 vT -50 420 14.0|13 15 3NN +1 rY:] 430 35.0 21.0| 6 22 INN+1 v2 120 45.0
25 3 3NN-1 v3 -50 42.0 14.0|17 11 3NN+1 &3 430 350 21.0|20 8 INN+1 &Q 120 45.0
40 45 3NS-1 a2 -50 420 140|119 9 3NN+1 ’Y:] 430 35.0 21.0|38 47 24 N= &2 110 42.0
41 44 3NN-1 +9 -50 420 14.0|21 7 3NS+1 s] 430 350 21.0|19 9 INN= *7 90 40.0
50 35 3NS-1 vT -50 42.0 14.0|30 55 3NN +1 LY:] 430 35.0 21.0|10 18 34 S-1 &6 -100 32.0
57 28 3NS-1 v6 -50 420 14.0|32 53 3NN+1 ’Y:] 430 35.0 21.0|30 55 2NN-1 a2 -100 32.0
58 14 3NN-1 v2 -50 420 14.0|34 51 3NN+1 3 430 35.0 21.0|31 54 24 S-1 vT -100 32.0
6 22 3NN-2 v2 -100 18.0 38.0(38 47 3NN+1 +5 430 35.0 21.0|34 51 24 S-1 +6 -100 32.0
13 15 3NS-2 +8 -100 18.0 38.0|41 44 3NN+1 +6 430 35.0 21.0|36 49 3NN-1 a3 -100 32.0
16 12 3NN-2 *2 -100 18.0 38.0(43 42 3NN+1 +5 430 35.0 21.0|46 39 24 S-1 +6 -100 32.0
17 11 3NS-2 vJ -100 18.0 38.0(48 37 3NN+1 v2 430 35.0 21.0|48 37 INN-1 v2 -100 32.0
20 8 3NN-2 v3 -100 18.0 38.0(50 35 3NN+1 &3 430 35.0 21.0| 2 26 3NN-2 v6 -200 16.0
24 4 3NN-2 v9 -100 18.0 38.0(56 29 3NN+1 48 430 35.0 21.0|13 15 3NN-2 v6 -200 16.0
30 55 3NS-2 v6 -100 18.0 38.0(57 28 3NN+1 &3 430 35.0 21.0|16 12 34 S-2 +3 -200 16.0
32 53 3NN-2 v2 -100 18.0 38.0(58 14 3NN+1 v2 430 35.0 21.0|17 11 44 N-2 ¢+ A -200 16.0
33 52 3NS-2 vT -100 18.0 38.0( 2 26 3NN= 48 400 8.0 48.0(25 3 INN-2 v2 -200 16.0
34 51 3NN-2 *2 -100 18.0 38.0( 6 22 3NN= v2 400 8.0 48.0[43 42 3NN-2 v2 -200 16.0
36 49 3NN-2 v2 -100 18.0 38.0(16 12 3NN= v4 400 8.0 48.0|50 35 3NN-2 *4 -200 16.0
38 47 3NN-2 v3 -100 18.0 38.0({20 8 3NN= *4 400 8.0 48.0|56 29 3NN-2 46 -200 16.0
43 42 3NN-2 v2 -100 18.0 38.0(24 4 3NN= v6 400 8.0 48.0|58 14 3NS-2 *4 -200 16.0
46 39 3NN-2 *2 -100 18.0 38.0(25 3 3NN= v2 400 8.0 48.0|24 4 44 S-5 &6 -500 5.0
48 37 3N N-2 v2 -100 18.0 38.0(33 52 3NN= v2 400 8.0 48.0(33 52 3NDN-2 46 -500 5.0
19 9 44 N-3 v2 -150 1.0 55.0(36 49 3NN= v3 400 8.0 48.0|32 53 3¢DO= & K -670 2.0
56 29 3NS-3 v5 -150 1.0 55.0(46 39 3NN= ’Y:] 400 8.0 48.0|21 7 3NDS-3 vT -800 0.0
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